£BA 1180
Lngunge prdlems vy 13
. £‘§ prge PC,{,(Q,,M = cphmitakion Pnrfalmx

e

@k){ rnax/mn %("\ ‘j) whin &Efij)':‘l
(D (et

,,,,,,,

M 113: 12 - 3X LL‘R
-
y= 37 3y X

/

A
%N -y =2

> x
N

1 e

:{)\(_\‘. LA %(X\ka):—xl-k%a when 3X+L(8';l2jAFM:
and. XH\}: 2 Inter-

A/ sechown
CRE
W
(see R‘k‘”‘.)

¢




For Logromae eroblumn

Recalll - (auurul nebhed. Y) dnkirior shokipmany ook
= 7 NONE ’
1) Tond condidale poinks i) Obher iakerior
\e : ontécal
2) Dl rnine. whekher any ”} e poinks
NoNE
M/mn. d)

,’—.\\\//\

Exmwluﬁ Yheosvem @ tuaags e (JL”"
3£ D s w’rwfadf Wﬂw& \“‘J‘U’\M “‘3""‘”‘5’” ?nx(qﬂxw/)
und {} s umpwn»wmlé
W o o lfwu\ on D

Na’(« ru_www\(«ﬁ,
{ 'M\L %m' L_J/WM%(

v ‘U
X Mun é(xl‘a\z x?—.\.%l when 3 X+ L(.d_-:lz

N/\\
/D 3x+‘4t3~‘7\ D s
I cLosed. | but wok

— et P
\ lprumhci’#

D L[s N6U wmf\?a.oQ' == EVT cannot \oa woe d .

a7°



C on max fmin i The ojrajnmwg P-nmk
a’} L
(£ xowupls |
) ) ) \I/
ok & ch = %x "‘)\9>(:O = X =3A

Lagronge comdations:  FoL +C

=5 Te———

roc: S.,:( :}‘ Ly - 3N = O;(L\i . 33/75»{»“, o)gr 2 2QW».
2l - ua = O g B vmbeamuiiol
L \} - ;bé H )\ }J .

3)( - th = l-z,:(%P

S _ G

L
l
l
I



Fom (D Ax=3N = x= N

P @) Qg =4x =p y= 2N @)

Pom G 3 (FA) () =12 | e

Gh + WL A = 24
25\= 2







TG mad fmin ) (xy) = x‘ﬂgz whon 3¢+ 4y =12

ma,uwsmﬂ}at

= o Hangock

—— q
//‘ D 3K+‘(~3—\z

Acumi_ssilole




Slepes o &&Wh@gj o s phould be
et

25x = 3L
_ 36
o &g
_ Lond AS e
NoTE V& = )\?V%L ( qradi ajijh \,ng
‘ | the qradiont of g
({X]:)\ [%x}
1y 8':1, Foc:
4{%”‘9; . [&lﬁé& Ay =0
'~ \aq' i g v
15= 29y 1,7 4= Agy= 0




| Do 3] (%)

A3 W/W’\ n  a
Logrunge  prrblom
WM/W“ %(K\%) w Hy %O(L%)::a,‘{
Then  pikhaw

) Thoe is @ A 4t O YT, ) pobished
Fhe hagrange twhainks  FOC + C ¢

e S

I_Q‘;’C_,___:‘ {L)xf;o C\)(\«GQ C" %(X\%):Qj

OR

) The comhaink s ww ack (K*l 3*),(;,@,]‘

\

%":O w%(x’%}sm
wnd §y= O

\/’/%mml o ik with
X In , o e L wnth a OL-%/WM
oo 45 a To’ur\i whoe D does net v




jy
Wi
N
X “
%Z
with
Iy

9 Oq*g_)—

%:ZI:T:O “,
IWC(JJ){
,{/9
Un.



